

		Vendor Ranking	Page 1 of 1
Letting:	04240712 July 12, 2024 10:3	30 AM Call Order: 004	Contract: E4X57-R0
District:	District 4	Counties: BROWARD	Fed Aid No: N/A
Contract Time:	365 CALENDAR DAYS		Project(s): 43561377201 (*)
Contract Desc:	LIGHTING REPAIR		

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	UPRIGHT ELECTRICAL SERVICES LLC	Responsive	Winning bid	\$369,430.00	100.00%
2	AUM CONSTRUCTION INC.	Responsive	Non-Winning Bid	\$813,110.00	220.10%
3	TRAFFICO LLC	Responsive	Non-Winning Bid	\$999,000.00	270.42%
4	ARC ELECTRIC INC	Responsive	Non-Winning Bid	\$1,057,170.00	286.16%
5	HORSEPOWER ELECTRIC, INC.	Responsive	Non-Winning Bid	\$1,258,706.00	340.72%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:	BEGIN DATE:	08/06/24	BEGIN TIME:	10:30 AM
	END DATE:	08/09/24	END TIME:	10:30 AM

NOTE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$450,000.00 and not the contractor's bid total.



Page 1 of 18

Letting:	04240712 July 12, 2024	Call Order: 004	Contract: E4X57-R0
District:	District 4	Counties: BROWARD	Fed Aid No: N/A
Contract Time:	365 CALENDAR DAYS		Project(s): 43561377201 (*)

#### Contract Descr: LIGHTING REPAIR

The work under this Contract consists of repairing lighting deficiencies along Broward State Highway and Park and Ride.

ADVERTISED ESTIMATE: The award amount and contract performance bond shall be based on the Department s advertised estimate amount of \$450,000.00 and not the contractor s bid total.

PERFORMANCE BOND: A Contract / Performance bond is required for this project.

REQUIRED SUBMITTAL WITH BID: Experience Form Highway Lighting 850-070-11

AWARD OF THIS CONTRACT IS CONTINGENT UPON ANNUAL LEGISLATIVE APPROPRIATION BUDGET APPROVAL OF FISCAL YEAR 2025 FUNDS.

PLEASE READ STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION FY 2024-25 (SECTION 7-13) FOR INSURANCE LIMITS.

Line No / Item ID Alto	ernate Quantity Units	(1) UPRIGHT E SERVICE		(2) AUM CONST	RUCTION INC.	(3) TRAF	
( ) indicates item is bid as Lump	Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(SODDING (SY						
0005 0110 4 10 REMOVAL OF EXISTING CON	42.000 CRETE SY	100.00000	4,200.00	50.00000	2,100.00	60.00000	2,520.00
0010     0508 2 5 MOVABLE BRIDGE GATE, ADJUST/MODIFY/REHAB	1.000 AS	1,000.00000	1,000.00	2,000.00000	2,000.00	5,000.00000	5,000.00
0015 0522 2 CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK	97.000 SY	100.00000	9,700.00	110.00000	10,670.00	125.00000	12,125.00
0020 0570 1 2 PERFORMANCE TURF, SOD	25.000 SY	20.00000	500.00	30.00000	750.00	35.00000	875.00



Page 2 of 18

Letting: 042	40712 July	12, 2024	Cal	l Order: 004		Contract:	E4X57-R0	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) UPRIGHT E SERVICE		(2) AUM CONST	RUCTION INC.	(3) TRAF	
( ) indicates item is bid a	s Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0	0001 (SC	DDING (SY						
0025 0630 2 11 CONDUIT, FURNISH & I TRENCH	NSTALL, OPEN	40.000 LF	100.00000	4,000.00	30.00000	1,200.00	50.00000	2,000.00
0030 0630 2 12 CONDUIT, FURNISH & I DIRECTIONAL BORE	NSTALL,	140.000 LF	50.00000	7,000.00	40.00000	5,600.00	90.00000	12,600.00
0035 0630 2 14 CONDUIT, FURNISH & I ABOVEGROUND	NSTALL,	110.000 LF	10.00000	1,100.00	50.00000	5,500.00	50.00000	5,500.00
0040 0630 2 65 CONDUIT, REMOVE, BF	RIDGE MOUNT	30.000 LF	10.00000	300.00	10.00000	300.00	20.00000	600.00
0045 0635 2 11 PULL & SPLICE BOX, Fa COVER SIZE	&I, 13" x 24"	9.000 EA	1,500.00000	13,500.00	2,000.00000	18,000.00	2,500.00000	22,500.00
0050 0635 2 50 PULL & SPLICE BOX, R	EPAIR	144.000 EA	100.00000	14,400.00	200.00000	28,800.00	600.0000	86,400.00
0055 0635 3 12 JUNCTION BOX, FURNI MOUNTED	SH & INSTALL,	13.000 EA	100.00000	1,300.00	500.00000	6,500.00	800.0000	10,400.00
0060 0639 1122 ELECTRICAL POWER S UNDERGROUND, METE BY CONTRACTOR		2.000 AS	1,000.00000	2,000.00	7,000.00000	14,000.00	7,100.00000	14,200.00



#### 07/12/2024

Tabulation of Bids

Page 3 of 18

Letting:	04240	712 Jul	y 12, 2024	Cal	l Order: 004		Contract:	E4X57-R0	
Line No / Item Dese		Alternate	Quantity Units	(1) UPRIGHT E SERVICE		(2) AUM CONST	RUCTION INC.	(3) TRAF	
() indicates	s item is bid as L	ump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 000	1 (Se	ODDING (SY						
	9 3 11 L SERVICE DIS IOUNT	SCONNECT,	1.000 EA	2,000.00000	2,000.00	3,500.00000	3,500.00	3,795.50000	3,795.50
ELECTRICAL	9 360 L SERVICE DI OLE OR CABIN		5.000 EA	100.00000	500.00	1,200.00000	6,000.00	3,000.00000	15,000.00
PRESTRESS	1 2 12 SED CONCRE <sup>-</sup> ERVICE POLE	TE POLE, F&	5.000 I, EA	1,000.00000	5,000.00	2,500.00000	12,500.00	3,000.00000	15,000.00
PRESTRESS COMPLETE	1 2 60 SED CONCRE <sup>-</sup> POLE REMOV SERVICE POLI	'AL-	5.000 EA	500.00000	2,500.00	1,200.00000	6,000.00	2,500.00000	12,500.00
LIGHTING C	5 1 11 ONDUCTORS , NO. 10 OR <	, F&I,	390.000 LF	4.00000	1,560.00	5.00000	1,950.00	4.55000	1,774.50
	5 1 12 ONDUCTORS, , NO.8 - 6	, F&I,	50.000 LF	30.00000	1,500.00	8.00000	400.00	20.00000	1,000.00
LIGHTING C	5 1 13 ONDUCTORS , NO 4 TO NO	, F&I,	10,000.000 LF	4.00000	40,000.00	10.00000	100,000.00	9.00000	90,000.00
LIGHTING C	5 170 ONDUCTORS, FDOT OR MA		950.000 LF Y	2.00000	1,900.00	0.20000	190.00	3.00000	2,850.00



#### 07/12/2024

Tabulation of Bids

Page 4 of 18

Letting: 04240712 July	12, 2024	Cal	<b>Order:</b> 004		Contract:	E4X57-R0	
Line No / Item ID Alternate ( Item Description	Quantity Units	(1) UPRIGHT E SERVICE	LECTRICAL S LLC	(2) AUM CONST	RUCTION INC.	(3) TRAF	
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (SOI							
0105 0715 5 51 LUMINAIRE & BRACKET ARM, REMOVE LUMINAIRE AND ARM; POLE REMAINS	1.000 EA	500.00000	500.00	1,200.00000	1,200.00	5,000.00000	5,000.00
0110 0715 11125 LUMINAIRE, F&I, UNDER DECK, WALL MOUNT	3.000 EA	1,000.00000	3,000.00	1,500.00000	4,500.00	1,800.00000	5,400.00
0115 0715 11211 LUMINAIRE, F&I- REPLACE EXISTING LUMINAIRE ON EXISTING POLE/ARM, ROADWAY, COBRA HEAD	2.000 EA	4,000.00000	8,000.00	2,500.00000	5,000.00	2,000.00000	4,000.00
0120 0715 11212 LUMINAIRE, F&I- REPLACE EXISTING LUMINAIRE ON EXISTING POLE/ARM, ROADWAY HIGH MAST	2.000 EA	4,000.00000	8,000.00	5,000.00000	10,000.00	4,500.00000	9,000.00
0125 0715 19 3 LIGHTING - REPLACE EXISTING SURGE PROTECTOR	4.000 EA	1,000.00000	4,000.00	200.00000	800.00	300.00000	1,200.00
0130 0715 21 2 LIGHTING REPAIRS AND RETROFITS, LED RETROFIT KIT FOR EXISTING LUMINAIRE	3.000 EA	100.00000	300.00	2,000.00000	6,000.00	2,400.00000	7,200.00
0135 0715 21 3 LIGHTING REPAIRS- REPLACE HIGH MAST LOWERING DEVICE ON EXISTING POLE	3.000 EA	3,000.00000	9,000.00	10,000.00000	30,000.00	8,500.00000	25,500.00
0140 0715 32 LIGHTING- DIAGNOSTIC WORK	25.000 LO	1,000.00000	25,000.00	450.00000	11,250.00	500.00000	12,500.00



#### 07/12/2024

### Tabulation of Bids

Page 5 of 18

Letting: 04240	0712 Ju	ıly 12, 2024	Cal	l Order: 004		Contract:	E4X57-R0	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) UPRIGHT E SERVICE		(2) AUM CONST	RUCTION INC.	(3) TRAF	
( ) indicates item is bid as	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 00	01 (\$	SODDING (SY						
0145 0715 37 1		2.000	2,000.00000	4,000.00	2,500.00000	5,000.00	2,000.00000	4,000.00
LIGHTING MAINTENANCE PHOTO ELECTRIC CONT ASSEMBLY, F&I		EA						
0150 0715 61342		3.000	3,000.00000	9,000.00	15,000.00000	45,000.00	20,000.00000	60,000.00
LIGHT POLE COMPLETE, STANDARD POLE STAND FOUNDATION, 40' MOUN 12' ARM LENGTH	DARD	EA IT,						
0155 0715 67000		20.000	1,000.00000	20,000.00	10,000.00000	200,000.00	5,500.00000	110,000.00
LIGHT POLE COMPLETE,	, INSTALL	EA						
0160 0715 69000		5.000	1,500.00000	7,500.00	2,000.00000	10,000.00	2,500.00000	12,500.00
LIGHT POLE COMPLETE, POLE AND FOUNDATION		EA						
0165 0715500 1		2.000	4,000.00000	8,000.00	1,500.00000	3,000.00	1,250.00000	2,500.00
POLE CABLE DISTRIBUT FURNISH AND INSTALL, CONVENTIONAL	ION SYSTEN	И, ЕА						
0170 E101 72		5.000	500.00000	2,500.00	2,000.00000	10,000.00	3,500.00000	17,500.00
MOBILIZATION (EMERGE RESPONSE)	INCY	EA						
0175 E715 4 1		150.000	10.00000	1,500.00	200.00000	30,000.00	225.00000	33,750.00
LIGHT POLE REPAIR- FU INSTALL HAND HOLE CO		EA						
0180 E715 15100		4.000	650.00000	2,600.00	700.00000	2,800.00	800.0000	3,200.00
HIGH MAST PARTS (F&I) BALLAST ASSEMBLY)	(IMPOTTED	EA						



Page 6 of 18

Letting	: 04	4240712	July 12, 2024	Cal	l Order: 004		Contract:	E4X57-R0	
	No / Item ID Description	Alternate	e Quantity Units	(1) UPRIGHT E SERVICI		(2) AUM CONST	RUCTION INC.	(3) TRAF	
	•	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SODDING (SY						
0185	E715 15110		4.000	1,000.00000	4,000.00	3,000.00000	12,000.00	6,000.00000	24,000.00
HIGH MA CABLE)	AST PARTS (F	F&I)(LOWERIN	IG EA						
	E715 15120		10.000	200.00000	2,000.00	3,000.00000	30,000.00	3,500.00000	35,000.00
HIGH MA CABLE)	AST PARTS (F	F&I)(POWER	EA						
	E715 15140		4.000	500.00000	2,000.00	6,000.00000	24,000.00	5,000.00000	20,000.00
HIGH MA SUPP. R		F&I)(LUMINAIF	RE EA						
	E715 15180		4.000	500.00000	2,000.00	500.00000	2,000.00	4,000.00000	16,000.00
HIGH MA ASSEMB		F&I) (BALLAST	- EA						
	E715 16 1		36.000	500.00000	18,000.00	200.00000	7,200.00	500.00000	18,000.00
BALLAST	T (F&I)		EA						
	E715 17 1		36.000	125.00000	4,500.00	200.00000	7,200.00	1,800.00000	64,800.00
LAMP (H	IPS)		EA						
0215	E715 17 7		7.000	100.00000	700.00	200.00000	1,400.00	2,000.00000	14,000.00
LAMP (H	IPS HIGH MA	ST)	EA						
0220	E715 18102		3.000	400.00000	1,200.00	500.00000	1,500.00	350.00000	1,050.00
LOAD CE BREAKE		(F&I) (DBL PC	DLE EA						
0225	E715 18104		2.000	2,000.00000	4,000.00	3,000.00000	6,000.00	7,500.00000	15,000.00
	ENTER PART & ENCLOSUR	(F&I)(BREAKE E)	ER EA						



Page 7 of 18

Letting:	04240712	July 12, 2024	Cal	l Order: 004		Contract:	E4X57-R0	
Line No / It Item Descr		nate Quantity Units	(1) UPRIGHT E SERVICI		(2) AUM CONST	RUCTION INC.	(3) TRAF	FICO LLC
( ) indicates i	em is bid as Lump Sເ		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(SODDING (SY						
0230 E715 LOAD CENTEI (CONTACTOR		2.000 EA	1,000.00000	2,000.00	1,000.00000	2,000.00	1,750.00000	3,500.00
	18106 R PART (F&I)(PHO SFORM)	2.000 TOCELL EA	350.00000	700.00	500.00000	1,000.00	800.0000	1,600.00
0240 E715 LOAD CENTER (PHOTOCELL)	18107 R PART (F&I)	2.000 EA	500.00000	1,000.00	150.00000	300.00	300.00000	600.00
	18110 R PART (F&I)(SYS <sup>-</sup> D-OFF/ON)	2.000 TEM EA	200.00000	400.00	200.00000	400.00	300.00000	600.00
	18112 R PART (F&I) (CIR0	2.000 CUIT EA	200.00000	400.00	150.00000	300.00	600.0000	1,200.00
0255 E715 GROUND ROE		5.000 EA	20.00000	100.00	100.00000	500.00	250.00000	1,250.00
0260 E715 FUSE (F&I) (P		15.000 EA	200.00000	3,000.00	200.00000	3,000.00	360.00000	5,400.00
0265 E715 DUMMY SLUG	24  4 (F&I) (POLE BASE	5.000 E) EA	10.00000	50.00	100.00000	500.00	100.00000	500.00
0270 E715 FUSE HOLDEI	25  1 R (F&I) (POLE BAS	56.000 E) EA	20.00000	1,120.00	100.00000	5,600.00	185.00000	10,360.00



Page 8 of 18

Letting	<b>g:</b> 04	1240712	July 12, 2024	Cal	l Order: 004		Contract:	E4X57-R0	
	No / Item ID Description	Alternate	e Quantity Units	(1) UPRIGHT E SERVICI		(2) AUM CONST	RUCTION INC.	(3) TRAF	
	dicates item is bio	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SODDING (SY						
0275 FUSE H (F&I)	E715 25 2 IOLDER / DISC	CONNECT PLU	2.000 JG EA	500.00000	1,000.00	200.00000	400.00	375.00000	750.00
	E715 26 3 DISCONNECT POLE BASE)	BREAKER (HI	2.000 IGH EA	500.00000	1,000.00	400.00000	800.00	2,000.00000	4,000.00
0285 SYSTEI	E715 29 M PATROLLIN	G	12.000 MO	5,000.00000	60,000.00	5,000.00000	60,000.00	3,500.00000	42,000.00
0290 DIAGNO	E715 32 10 DSTIC WORK (	(CIRCUIT)	2.000 LO	300.00000	600.00	1,500.00000	3,000.00	2,500.00000	5,000.00
0295 DIAGNO GROUN	E715 32 11 OSTIC WORK ( ND)	(HIGH MAST,	10.000 LO	2,000.00000	20,000.00	450.00000	4,500.00	1,500.00000	15,000.00
0300 DIAGNO AERIAL	E715 32 12 DSTIC WORK ( .)	(HIGH MAST,	2.000 LO	300.00000	600.00	1,000.00000	2,000.00	3,000.00000	6,000.00
0305 PRE-E∖ MAST L	E715 33 1 /ENT LOWER/ IGHT	SECURE OF H	12.000 IIGH EA	300.00000	3,600.00	500.00000	6,000.00	1,500.00000	18,000.00
	E715 33 2 EVENT DIAGNO G OF HIGH MA		12.000 EA	300.00000	3,600.00	500.00000	6,000.00	1,500.00000	18,000.00
	E715 34 03 POLE (HANDH BLY) (F&I)	OLE) (DOOR	100.000 EA	50.00000	5,000.00	250.00000	25,000.00	275.00000	27,500.00



Page 9 of 18

Letting:	04240712	July 12, 2024	C	all Order: 004		Contract:	E4X57-R0	
Line No / Iten Item Descript		ate Quantity Units	· · ·	ELECTRICAL	(2) AUM CONS	STRUCTION INC.	(3) TRA	
() indicates iten	n is bid as Lump Sul	т	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTI 000		(SODDING (SY Section Totals:		\$369,430.00		\$813,110.00		\$999,000.00
	Contract	Grand Totals:		\$369,430.00		\$813,110.00		999,000.00



Page 10 of 18

Letting: 04240712 J	uly 12, 2024	Cal	l Order: 004		Contract:	E4X57-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(4) ARC ELE		(5) HORSEPOW INC			
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	SODDING (SY						
0005 0110 4 10 REMOVAL OF EXISTING CONCRETE	42.000 SY	100.00000	4,200.00	50.00000	2,100.00		
0010 0508 2 5 MOVABLE BRIDGE GATE, ADJUST/MODIFY/REHAB	1.000 AS	1,500.00000	1,500.00	9,000.00000	9,000.00		
0015 0522 2 CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK	97.000 SY	200.00000	19,400.00	150.00000	14,550.00		
0020 0570 1 2 PERFORMANCE TURF, SOD	25.000 SY	200.00000	5,000.00	25.00000	625.00		
0025 0630 2 11 CONDUIT, FURNISH & INSTALL, OPI TRENCH	40.000 EN LF	25.00000	1,000.00	25.00000	1,000.00		
0030 0630 2 12 CONDUIT, FURNISH & INSTALL, DIRECTIONAL BORE	140.000 LF	100.00000	14,000.00	35.00000	4,900.00		
0035 0630 2 14 CONDUIT, FURNISH & INSTALL, ABOVEGROUND	110.000 LF	60.00000	6,600.00	50.00000	5,500.00		
0040 0630 2 65 CONDUIT, REMOVE, BRIDGE MOUN	30.000 T LF	10.00000	300.00	75.00000	2,250.00		
0045 0635 2 11 PULL & SPLICE BOX, F&I, 13" x 24" COVER SIZE	9.000 EA	4,000.00000	36,000.00	2,000.00000	18,000.00		



Page 11 of 18

Letting: 04240712 July	/ 12, 2024	Cal	<b>Order:</b> 004		Contract:	E4X57-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(4) ARC ELE	CTRIC INC	(5) HORSEPOW			
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (SC	DDDING (SY						
0050 0635 2 50 PULL & SPLICE BOX, REPAIR	144.000 EA	500.00000	72,000.00	800.00000	115,200.00		
0055 0635 3 12 JUNCTION BOX, FURNISH & INSTALL, MOUNTED	13.000 EA	2,500.00000	32,500.00	1,200.00000	15,600.00		
0060 0639 1122 ELECTRICAL POWER SERVICE, F&I, UNDERGROUND, METER PURCHASEE BY CONTRACTOR	2.000 AS	6,500.00000	13,000.00	10,000.00000	20,000.00		
0065 0639 3 11 ELECTRICAL SERVICE DISCONNECT, F&I, POLE MOUNT	1.000 EA	3,000.00000	3,000.00	5,000.00000	5,000.00		
0070 0639 3 60 ELECTRICAL SERVICE DISCONNECT, REMOVE- POLE OR CABINET TO REMAIN	5.000 EA	500.00000	2,500.00	500.00000	2,500.00		
0075 0641 2 12 PRESTRESSED CONCRETE POLE, F&I TYPE P-II SERVICE POLE	5.000 , EA	4,000.00000	20,000.00	3,500.00000	17,500.00		
0080 0641 2 60 PRESTRESSED CONCRETE POLE, COMPLETE POLE REMOVAL- PEDESTAL/SERVICE POLE	5.000 EA	500.00000	2,500.00	1,200.00000	6,000.00		
0085 0715 1 11 LIGHTING CONDUCTORS, F&I, INSULATED, NO. 10 OR <	390.000 LF	8.00000	3,120.00	1.50000	585.00		



Page 12 of 18

Letting: 04240712 Jul	y 12, 2024	Cal	<b>Order:</b> 004		Contract:	E4X57-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(4) ARC ELE		(5) HORSEPOW			
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (Section 2)	ODDING (SY						
0090 0715 1 12 LIGHTING CONDUCTORS, F&I, INSULATED, NO.8 - 6	50.000 LF	15.00000	750.00	4.00000	200.00		
0095 0715 1 13 LIGHTING CONDUCTORS, F&I, INSULATED, NO 4 TO NO 2	10,000.000 LF	20.00000	200,000.00	6.00000	60,000.00		
0100 0715 1 70 LIGHTING CONDUCTORS, REMOVE & STOCKPILE, FDOT OR MAINT AGENC OWNS		2.00000	1,900.00	0.10000	95.00		
0105 0715 5 51 LUMINAIRE & BRACKET ARM, REMOV LUMINAIRE AND ARM; POLE REMAINS		2,500.00000	2,500.00	400.00000	400.00		
0110 0715 11125 LUMINAIRE, F&I, UNDER DECK, WALL MOUNT	3.000 EA	2,500.00000	7,500.00	1,410.00000	4,230.00		
0115 0715 11211 LUMINAIRE, F&I- REPLACE EXISTING LUMINAIRE ON EXISTING POLE/ARM, ROADWAY, COBRA HEAD	2.000 EA	5,000.00000	10,000.00	1,528.00000	3,056.00		
0120 0715 11212 LUMINAIRE, F&I- REPLACE EXISTING LUMINAIRE ON EXISTING POLE/ARM, ROADWAY HIGH MAST	2.000 EA	5,000.00000	10,000.00	2,900.00000	5,800.00		
0125 0715 19 3 LIGHTING - REPLACE EXISTING SURG PROTECTOR	4.000 SE EA	500.00000	2,000.00	350.00000	1,400.00		



Page 13 of 18

Letting: 04240712	July 12, 2024	Cal	l Order: 004		Contract:	E4X57-R0	
Line No / Item ID Alterna Item Description	te Quantity Units	(4) ARC ELE		(5) HORSEPOW			
( ) indicates item is bid as Lump Sum	1	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(SODDING (SY						
0130 0715 21 2	3.000	1,800.00000	5,400.00	2,000.00000	6,000.00		
LIGHTING REPAIRS AND RETROF LED RETROFIT KIT FOR EXISTING LUMINAIRE							
0135 0715 21 3 LIGHTING REPAIRS- REPLACE HI MAST LOWERING DEVICE ON EXISTING POLE	3.000 GH EA	5,000.00000	15,000.00	28,000.00000	84,000.00		
0140 0715 32 LIGHTING- DIAGNOSTIC WORK	25.000 LO	100.00000	2,500.00	400.00000	10,000.00		
0145 0715 37 1 LIGHTING MAINTENANCE/REHAB PHOTO ELECTRIC CONTROL ASSEMBLY, F&I	2.000 - EA	800.00000	1,600.00	750.00000	1,500.00		
0150 0715 61342 LIGHT POLE COMPLETE, F&I, STANDARD POLE STANDARD FOUNDATION, 40' MOUNTING HE 12' ARM LENGTH	3.000 EA IGHT,	15,000.00000	45,000.00	18,000.00000	54,000.00		
0155 0715 67000 LIGHT POLE COMPLETE, INSTALI	20.000 _ EA	8,000.00000	160,000.00	12,000.00000	240,000.00		
0160 0715 69000 LIGHT POLE COMPLETE, REMOV POLE AND FOUNDATION	5.000 E EA	1,500.00000	7,500.00	1,200.00000	6,000.00		



Page 14 of 18

Letting:	04	240712 J	uly 12, 2024	Cal	l Order: 004		Contract:	E4X57-R0	
	o / Item ID escription	Alternate	Quantity Units	(4) ARC ELE		(5) HORSEPOW			
() indica	ates item is bio	l as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
:	SECTION:	0001	SODDING (SY						
0165 0	0715500 1		2.000	1,000.00000	2,000.00	1,200.00000	2,400.00		
	AND INSTAL	BUTION SYSTE _L,	M, EA						
0170 E	E101 72		5.000	2,500.00000	12,500.00	5,000.00000	25,000.00		
MOBILIZA RESPONS	ATION (EMEF SE)	RGENCY	EA						
	E715 4 1		150.000	200.00000	30,000.00	250.00000	37,500.00		
	DLE REPAIR- HAND HOLE	FURNISH AND COVER	) EA						
	E715 15100		4.000	1,000.00000	4,000.00	1,600.00000	6,400.00		
	ST PARTS (F ASSEMBLY)	<sup>:</sup> &I) (IMPOTTED )	D EA						
	E715 15110		4.000	1,000.00000	4,000.00	10,500.00000	42,000.00		
HIGH MAS CABLE)	ST PARTS (F	&I)(LOWERING	B EA						
0190 E	E715 15120		10.000	1,200.00000	12,000.00	8,500.00000	85,000.00		
HIGH MAS CABLE)	ST PARTS (F	&I)(POWER	EA						
0195 E	E715 15140		4.000	1,500.00000	6,000.00	15,000.00000	60,000.00		
HIGH MAS SUPP. RIN		&I)(LUMINAIRE	E EA						
	E715 15180		4.000	1,500.00000	6,000.00	1,200.00000	4,800.00		
HIGH MAS ASSEMBL		<sup>5</sup> &I) (BALLAST	EA						



Page 15 of 18

Letting: 04240712 Jul	y 12, 2024	Cal	<b>Order:</b> 004		Contract:	E4X57-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(4) ARC ELE	CTRIC INC	(5) HORSEPOW			
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (Se	ODDING (SY				1		
0205 E715 16 1 BALLAST (F&I)	36.000 EA	800.00000	28,800.00	650.00000	23,400.00		
0210 E715 17 1 LAMP (HPS)	36.000 EA	500.00000	18,000.00	115.00000	4,140.00		
0215 E715 17 7 LAMP (HPS HIGH MAST)	7.000 EA	400.00000	2,800.00	250.00000	1,750.00		
0220 E715 18102 LOAD CENTER PART (F&I) (DBL POLE BREAKER)	3.000 EA	500.00000	1,500.00	1,350.00000	4,050.00		
0225 E715 18104 LOAD CENTER PART (F&I)(BREAKER PANEL & ENCLOSURE)	2.000 EA	500.00000	1,000.00	5,500.00000	11,000.00		
0230 E715 18105 LOAD CENTER PART (F&I) (CONTACTOR)	2.000 EA	500.00000	1,000.00	1,500.00000	3,000.00		
0235 E715 18106 LOAD CENTER PART (F&I)(PHOTOCEL CONTR TRANSFORM)	2.000 _L EA	500.00000	1,000.00	750.00000	1,500.00		
0240 E715 18107 LOAD CENTER PART (F&I) (PHOTOCELL)	2.000 EA	500.00000	1,000.00	500.00000	1,000.00		
0245 E715 18110 LOAD CENTER PART (F&I)(SYSTEM SWITCH AUTO-OFF/ON)	2.000 EA	500.00000	1,000.00	500.00000	1,000.00		



Page 16 of 18

Letting: 0	4240712 J	uly 12, 2024	Cal	<b>Order:</b> 004		Contract:	E4X57-R0	
Line No / Item ID Item Description	Alternate	Quantity Units	(4) ARC ELE	CTRIC INC	(5) HORSEPOW INC			
( ) indicates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	SODDING (SY						
0250 E715 18112 LOAD CENTER PART FUSE)	ſ (F&I) (CIRCUIT	2.000 EA	500.00000	1,000.00	250.00000	500.00		
0255 E715 22 1 GROUND ROD		5.000 EA	350.00000	1,750.00	175.00000	875.00		
0260 E715 24 1 FUSE (F&I) (POLE BA	ASE)	15.000 EA	500.00000	7,500.00	100.00000	1,500.00		
0265 E715 24 4 DUMMY SLUG (F&I) (	(POLE BASE)	5.000 EA	250.00000	1,250.00	50.00000	250.00		
0270 E715 25 1 FUSE HOLDER (F&I)	(POLE BASE)	56.000 EA	100.00000	5,600.00	150.00000	8,400.00		
0275 E715 25 2 FUSE HOLDER / DIS (F&I)	CONNECT PLUC	2.000 G EA	600.00000	1,200.00	125.00000	250.00		
0280 E715 26 3 QUICK DISCONNECT MAST POLE BASE)	FBREAKER (HIC	2.000 GH EA	1,000.00000	2,000.00	1,500.00000	3,000.00		
0285 E715 29 SYSTEM PATROLLIN	IG	12.000 MO	2,000.00000	24,000.00	10,000.00000	120,000.00		
0290 E715 32 10 DIAGNOSTIC WORK	(CIRCUIT)	2.000 LO	1,000.00000	2,000.00	1,500.00000	3,000.00		



Page 17 of 18

Letting: 04240712 July	12, 2024	Cal	l Order: 004		Contract:	E4X57-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(4) ARC ELE		(5) HORSEPOW INC			
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (SO	DDING (SY						
0295 E715 32 11 DIAGNOSTIC WORK (HIGH MAST, GROUND)	10.000 LO	2,000.00000	20,000.00	1,000.00000	10,000.00		
0300 E715 32 12 DIAGNOSTIC WORK (HIGH MAST, AERIAL)	2.000 LO	2,500.00000	5,000.00	3,500.00000	7,000.00		
0305 E715 33 1 PRE-EVENT LOWER/SECURE OF HIGH MAST LIGHT	12.000 EA	5,000.00000	60,000.00	2,000.00000	24,000.00		
0310 E715 33 2 POST EVENT DIAGNOSTIC AND RAISING OF HIGH MAST LIGHT	12.000 EA	5,000.00000	60,000.00	2,000.00000	24,000.00		
0315 E715 34 03 LIGHT POLE (HANDHOLE) (DOOR ASSEMBLY) (F&I)	100 <u>.</u> 000 EA	250.00000	25,000.00	250.00000	25,000.00		
0001 SODDING (SY) Section	on Totals:		\$1,057,170.00		\$1,258,706.00		

**Contract Grand Totals:** 

\$1,057,170.00

\$1,258,706.00



# Tabulation of Bids Page 18 of 18 Letting: 04240712 July 12, 2024 Call Order: 004 Contract: E4X57-R0 NOTE: Failure to file a protest within the time prescribed in section

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.